Fairfield Public Schools                   GR4 U6              Performance Assessment - key               


Name : _________________________                                                           Date: ________  

The Rogers family and the Stein family are having a cookout.   They figure that they need to buy 50 hamburgers for the cookout.


1. Hamburgers come in packages of 8.  How many packages do they need to buy?   Show or explain your thinking.



8 x 6 = 48
8 x 7 = 56

They need to buy 7 packages to have enough hamburgers.

2. Each package of hamburgers cost $35.  Mr. Rogers and Mr. Stein agree to share the cost evenly.  How much should each man pay for the hamburgers?  Show or explain your thinking.
7 x $35 = $245.00
245 ÷ 2 = $122.50 each


